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16 (a + b)* — 49 (a — b)? 2 2
14. 36%.18 % 398
4 & 4p
Iu:/;z;/g_):}.?/ﬂ
(371)2 - (129) 16.  (674.17)* — (325.83)?
(0.567)2 — (0.433)2 1g. (04092 (03917
0.567 — 0.433 : 0.409 — 0.391
a’+2ab + b’ —cZ:(Type)(:’ (v)
_‘LC‘(G/&?L})LUJC"JJ@AJJ!
U SAS a® - 2ab + b — 4c* 15 )¢
(a* —2ab+b*) —4c? . F

=(a-b)’-(20)’
=(a-b—-2c)(a—b +20)

~JSSAS 4 + 4ab + B - 9 16 )¢
4a® + 4ab +b* — 9¢* :f
= (2a)* +22a)(b)+ (b)* = 9¢*
= (2a+ b)* — (3¢)*
=Qa+b-3c)2a+b+3c)
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= (3a)’ + 3(3a)(4b)(3a + 4b) + (4b)’
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(iv) 5, . 6,10 7,11 ;812
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1. (i) 13cem (i) 247 em (iii) 12cm (iv) 25cm (v) 8cm  (vi) 10c
2. Jem 3. 8m 4 75cm 6. 10.12m T. o b =5 (i)

8. () llem (i) lem i) 1m  (iv) 6F5m
(v)  10v2 dm (i) 5sdm 9. a?-25

1. 2754m* 2. (i) 84cm* (i) 30cm® (i) 272.02cm”

3. (i)  6m, 14.70m> (ii) 6m,24m> (i) Tm,8.79m (iv) 525m, 4.353m>
4. (i) 261.90cm*> (i) 232.93cm®  (iii) 4.68cm®  (iv) 2.00cm’

5. (a) (i) 24cm’ (i) 24cm’ (b) 48cm*

1. (i)  154cem’ (i)  98.56m" (iii))  0.55m

2. () 3.5m (i) 4.29m (iii))  4.95m

3. () 817.6em’ (i)  2759.44cm’ (iii)  1437.33 em®

(iv) 164.70m’
()  4cm,268.19cm® (i) 044 cm, 036cm® (i) 7m, 1437.33m’
1913090.67 / 6. (i) 41 (i) 8:1

V =2304 7em’, 13824 ([ 9) 8. 900cm

1. (i)  6,188.57,113.14,301.71 (i)  5,47.14,28.28,75.42

(iii)) 23.32,707.14,254.57,961.71  (iv) 7,7.14, 10,220
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1
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3. (i) 137.3lem’ (%) (i) 37.71cm’ () (iii) 8.18cm” ({#)
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1. mPQ = mST, m QR = mTU, mRQ = mUS
msP =msS, msQ = msT, msLR = mzeU
2. (a) SAS (b) SSA (c) SAS (d) SSA 5. 90°
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1. (i) d (i) a (iii)) a
(viii) a (ix) b (x) c

(v) a (vi) a (vii)j d

2. (i) x=20° 105, 75° (i) 93°
(iii) a=114° b=66" (iv)  x=31°42°, 107°
4 3 45 5
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3 1S 817 17
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(V) boldlo=762, sbos =75, wb= S
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2. 12074 o
3. g =118, s =10, ok =1,5,10
4, Qo =32, s =3 , pb=2
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127 %
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2. L/;IQL) pully% vl
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b. 11 11 12
c 55 5 5
d 7 75 8
e 154.3 154.7 152.3
4. Lade=T6.68Ly , b =76.654w, wb =767 L
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